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1. Write your name, student ID number, recitation instructor’s name and recitation time
in the space provided above. Also write your name at the top of pages 2, 3 and 4. '

2. The test has four (4) pages, including this one.

o

Write your answers in the boxes provided.

4. You must show sufficient work to justify all answers unless otherwise stated in the
problem. Correct answers with inconsistent work may not be given credit.

5. Credit for each problem is given in parentheses in the left hand margin.
6. No books, notes or calculators may be used on this exam.

(8) 1.1If f(z) = — and g(z) = z® — 2z, find each of the following functions. (It is not
‘ necessary to simplify.)
’ I
2 ETS (fog)z) = < ax
L pTs (9o f)lz) = é.;-a)g —'Q'*i—’ = ):3 - :c
2 phs (fof)a) = —‘/': = X x#0

Apts  Gonw=

(X- &x

&(x —ax)

(5) 2. A rectangle has a perimeter of 48 m. Express its area, A, as a function of the length

of one of its sides.

A =
®

x4

He=dx+2y ) H
= H-x

A=

x (sw—X)

QJA)( X

2 pts




[

MA 165 EXAM 1 Fall 2001 | Page 2/4

. Name:

. o 3 pr>
1z fey=a - 1=Ca =C "’]L"w
2\ ‘Qj‘: 2 —> .:_’.'.:aa - q:‘j_?-L_.
%, 2)
—> X X

im= 2a(3) 2

e —i l i Z

(10) 4. Find the inverse of the followihg function and state its domain.

| 9@) =75 -3), g7 (@) =| H{€"+3) | domain= | (—=0, o0) [~ [R.
”J =0 (Ix—3) = TSNS
e’ = 7x-3.}3p1s =1L , ni:ARe

%x = 2(e*+3)

(6) 5. Find the value(s) of a so that the function f is continuous on (—oo, c0) if
z2 + a, z<1

f(x):{cﬁ—x, z>1
|+a =a— | HPpts
Q —a—2=0
(a-2)(a+1)= 0O A prs
Q:?—/Q—':—'[

(6) 6. Find the equations of the horizontal and vertical asymptotes of the function

2 +52 -9
| Tw vy
X. 4 R X— 2 oo T 7% ‘t’%-'florizontal asymptote(s) # — / 2 bTs
@ Xrsx~9q p

= (x—)(x-2). | |
*,g = Q0 . x—-‘-} 2,‘ g(:_ OO vertical asymptote(s) xX=I ) X=2a i v edch
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(18) 7. For each of the following fill in the boxes below with a finite number, or one of the

symbols: co, —oo, or DNE (does not exist). It is not necessary to give reasons for
your answers.

- war

RS T s | —we
. 2 —x+5 |
L o ¥ 3 b1s CH
2
lim == }2
(c) . 1ng~ = ) T,_S —o0

@ Jm =gy~ p> | DNE

@ o (st apts [ L
® i oo~ apts | DVE

(8) 8. Find the derivative of f(z) = /z uéing the definition of the derivative:
' . f(.’II + h) — f(m)
f(@) = Jim o 4pTs fov a covvect sTol 2 }ZTS
L RO K9 o [ VX Lo i, 0
h=0 h=1 0 h '““D - xn +F)6

=3 /Q""‘" X“V-‘/\ -~ JZM\/) o |

‘“‘"“O%(mw?j: hao [xrn TVX AVx

lo cvedit tov |
S:vxg Ne Lovmla &ED,
Fov the devivahve. N
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(6) 9. For what values of = does the graph f(z) = 223

— 322 — 6z + 87 have a horizontal

3 ETﬁ ~pcv CQ'VVE'C,\[_ STGJ-

3 pts

X

—
S

B

| + /5

tangent.
2
fhxy= ¢x —ex —6 =0
X =x— = 0O
X = __,__;j:_____————— V 5 TQ ME.FO'Q’\E‘
A% | pt 1% the
dv not kave)(
boDh ans,
(15) 10. Find the derivatives of the following functions. (It is not necessary to simplify.)
eﬂ}'
@) y=177
s
—t = oY 4
X ( |+ x)™ ==
(b) f(ac) = z?sinz
/(=) =

2.
X CoX - X SinX

(c) g(t) =secttant

Q‘Y

5pts

g Q;) = Sect Set £+ sedktent tewc(:g ) =

Sect £ sect Tan €

(10) 11. Find the following limits. (Use the fact that lm 802 = 1,) Show your work.

a 2
(a) lim sin =
60 (¢ a0

— |.o.::o

E_i_'_’\_, sme@ pTs

tanz

,QJ/VV\ S'V\X -—l—w——{’ E

x50 ™ goox
!

L — 4

= leg =y

() h—% 4z

O.




